Size:
‘ A3

Garage steel structure 6x7m.
Srawi

1

N~
(@) \
oA a)
\ \ ()]
/ / £
/ 2 I ) U O O O 51
<€ = N A A L S R N R R R N R SR R R R R A A R 4
i Olnoon0on@0naonno0000000,0/0/a8,
o
8
El||a|a|ad|d|d|ad|la|a|a|a | ad|ad|d] a9
S
z
-
c
@
I —
Do t|lwlo/~rolD |V 2T/ dnmtnol~lololx
oo onadodnooloo|olojojlo|ojo|a

Sainoniis epja L




C Braciﬁg Brl D16 )

ﬂ5> (_ COLUMN C8 IPE100 )

B L2

Tekla structures

| |
\ \
| ! ( Bracing Br2 D16 ) ! Qa
125 | | 1125
0 | o | e 0 ‘
3 \ 3 \ - S \
oy e = - O B
| | [ 155 | |
| ((COLUMN C2IPE100) 1| ((COLUMNC4IPE100) | | |155 (COLUMN C6IPE100) | |
\ \ \ \
\ \ \ \
| | | |
\ \ \ \
| | | | .
| | | | S
\ \ \ \
\ \ \ \
\ \ \ \
i i i (Bracing Br3 D16 ) i
\ \ \ ﬂ\
\ \ \ 140, ;130
\ \ \ \
\ \ \
\ \ \ E \
\ \ \
\ \ \ || (Bracing Br3 D16 )
i ‘ ‘ (_COLUMN C9 IPE100 ) U‘
\ \ \ \
| | | |
\ \ \ \
| | | | 3
I I I I O
\ \ \ \ ™
\ \ \ \
\ \ \ \
! ! ( Bracing Br1 D16 ) !
\ \ \ \
|| CCOLUMNC7I1PE100) 26 | 78 | |
o ! (COLUMN C1IPE100 ) 78,75 4125
N~ ‘ o [+ o [e))
— [ E E | —
AR T el I o 1 R S|
o
N
DETAIL A (Bracing Br2 D16 ) ('COLUMN C31PE100 ) ( COLUMN C5 IPE100 )
50 2300 2400 2300 20
DETAIL B =
D c|
Base plates an columns plan Garage stel siructure 67
1:30 Dzrawmg: SX\%

Status:




Tekla structures

((10xPR1 )

\
| 800 800
|

~~~~~ -

800 800
800 80
0 ‘ 800 800 550
R I | S AN N | S U, S = S s N W N O A~
L |
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, [N 1 3 I — . :
(_BEAM B5 IPE100 ) . (_BEAM B4 IPE100 ) ) X | 7
\\\ ,"/'\t,’/ H
O ( BEAM B2 IPE100 )
DETAIL D ... R [ \DETALD
DETAILC <N % | DETAILE
" % o |
S & / | Il
S \ e | ;,o\,‘ 383
o ) L o
S o) e [SI="
z S el z 8
g = S =
2 o = 2
@] — =} O
. = o ©
5 ° [tension with a clutch up to a value of 10kN]
3] & 17
\_/
- __ - __ ___ - .- s N ; - - - - - __ =
[tension with a clutch up to a value of 10kN]
2300 2400 2300
7000 ‘
\
sectionA-A
1:25

Project:

Garage steel structure 6x7m.

Drawing: Size:
A3

Status:




Tekla structures

((10xPR1 )

800 800

( COLUMN C6 IPE100 )

DETAILE

DETAIL D

[tension with a clutch up to a value of 10kN]

N

N

o

( COLUMN C2 IPE100 )

DETAIL D

DETAILC

[tension with a clutch up to a value of 10kN]

( COLUMN C8 IPE100 )

<éﬁ> ,,,,,,,,,,,,,,,,,,,,,,,,,,, —
2300 2400 2300
1 7000 !
| |
sectionB-B
1:25

Project:
Garage steel structure 6x7m.

Drawing: Size:

A3

Status:




Tekla structures

2000

(+0.000 )~

1:25

77777777777777777777777777777777777777777777777777777777 PurlinPR1) [
o r N
° —
[ | 5
[ / H
7< ((BEAM B3 IPE100 ) || ( BEAM B3 IPE100 ) 137
DETAIL F 8
: s
[
o a S
3 > w
n 3 -
=+ = 8
L0 =
O = z
z o %
% (@] —
— N/ Q
®) O
&) %
\_/
[tension with a clutch up to a value of 10kN] : :
[tension with a clutch up to a value of 10kN]
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, B ___ _ ___ _
\/ S
—
3000 3000
\
\
6000 I
1
sectionC-C

Project:
Garage steel structure 6x7m.

Drawing: Size:

A3

Status:




Tekla structures

(_ Purlin PR1 )

0 0

i

( COLUMN C8 IPE100 )

( BEAM B1IPE100 )

6000

( COLUMN C7 IPE100 )

sectionD - D
1:25

Project:
Garage steel structure 6x7m.

Drawing: Size:

A3

Status:




Tekla structures

- BEAMB6 ) __ SN (BEAMB7)
i ]
[tension with a clutch up to a valy [tension with a clutch up to a valye of 20kN]
o
S :
= — —
o o H
11\—|\'1 o o o E' Ei B
o = £ E_: o o o
o 5 5 = £ c o
= a a E = = £
= =} =
=1 o a 5
W o
! BEAM B5 ( BEAM B2 )
2300 2300

DETAIL G

Roof plan
1:30

Project:
Garage steel structure 6x7m.

Drawing: Size:

A3

Status:




25 25

( COLUMN IPE100 )

2x P2 FS FLAT10*65 * 65
(_COLUMN IPE100 ) ¢ ) Q

[Te]
N

Anchor bolts M12

iz Bl

weld after installation >—3@
Mweld after installation

o
N

( P2 FLAT10*65*65 )

weld after installation

Anchor bolts M12

( P2 FLAT10*65*65 )

(P19 PL15*125*195 )  weld after installation >3 ( P1FLAT15%140 * 155 )

Detail B, 1:5

A
<J WM ( P3 FLAT5*60 * 150 )
Detail A, 1:5 (_COLUMN IPE100 )

75
(_COLUMN IPE100 ) Bracing D16

(2x P2 FLAT10*65 * 65 ) ((P1FLAT15*140*155) , N\
© 1*bolt M12*30

Anchor bolts M1

(P19 PL15*125*195 ) g

weld after installation >—@ Wweld after installation \
- (2x P2 FLAT10*65 * 65 )
ProfeE

SeCtlon B-B Garage steel structure 6x7m.

Drawing: Size:

sectionA-A 15 8 A4
15 Status:

Anchor bolts M12

Tekla structures




15
2*bolt M10*20

Purlin PR1 ( Purlin )

[Te]
N

(U2 KU50/25/2*139 )

[Te]
N

2*bolt M10*20 3
( P14 FLAT5*55* 185 ) weld after installation

N~
™

(Pri1PE100 * 2243 )

Lo}
—

(U2 KU50/25/2*139 )

O
Q

10{|20 40 20]10

10, 20 40 20

M10*25

(_L-shape H65/50/5 ) (_BEAM IPE100 )

2*bolt M10*25 weld after installation ( P13 FLAT5*55*85 )

(_COLUMN IPE100 )

(_ COLUMN IPE100 )

Detail C, 1:5 sectionA-A
- 15

Project:
Garage steel structure 6x7m.
Drawing: Size:

Ad

Status:

Tekla structures




Y

2*bolt M10*20

(UL KU50/25/2* 143 ) | 0

2*bolt M10*25

(_BEAM IPE100 )

I
o
N
o

=

] 2*bolt M10*20

@\ «

O 2*bolt M10*25

| g
|

30,40 ;30

1]—‘4444444“1‘

BEAM IPE100 ((U1KU50/25/2* 143 )

A
/§ L> weld after installation
o 1*bolt M12*30

BEAM IPE100

section A-A
1:5

—--
|

o

( P3 ELAT5*60 * 150 )

( P4AELAT5*90*87 )
Detail D, 1:5

Project:
Garage steel structure 6x7m.
Drawing: Size:

10 Ad

Status:

Tekla structures




Tekla structures

2*bolt M10*20

Yo}
N

(_ BEAM IPE100 ) o
©

[e0]
™

(U3 KU50/25/2*137 )

o=
=

_L 2*bolt M10*25

(_L-shape H65/50/5 )

Detail E , 1:5

( P9 FLAT5*55 * 100 )

(_ COLUMN IPE100 )

2*bolt M10*20

(U3 KU50/25/2 *137 )

weld after installation

10|({20 40 20|10

T5*65*80 )

1*bolt M12*30

(_COLUMN IPE100 )

( P3FLAT5*60 * 150 )

100

(P16 PL5*83.2*92 )

section A-A

1:5

Project:
Garage steel structure 6x7m.

Drawing: Size:

11 Ad

Status:




Tekla structures

BEAM IPE100

( Purlin )

2*bolt M10*25

2*bolt M10*25

( BEAM IPE100 )

( P9 FLAT5*55 * 100 )

25

10| 20 40 20 |10

( P10 FLAT5*80* 185 )
25

!

Detail F, 1:5

(_ COLUMN IPE100 )

Bracing D16 ) 5

( P3 FLAT5*60 * 150 )

(P18 PL5*88.2*98 )

1*bolt M12*30

( BEAM IPE100 ) ( BEAM IPE100 )

( COLUMN IPE100 )
Detail G, 1:5

Project:
Garage steel structure 6x7m.

Drawing: Size:

12 Ad

Status:




ASSEMBLY UNITS DRAWING




Tekla structures

5790
25 5740 E§> 25
Pr5
I|

& ' I | IS
S I P15 29812

P15 &
S \ | /|

30 ” 3N/
29812 50 5 75

A
A
Front view

Pr5
P15 P15
3N A ~_3\
section A-A
15

ASSEMBLY PART LIST Assembly: B1

Length (mm): 5790

Finish: finish Number: 1

Part Profile Material Number Length (mm) | Weight (kg)

P15 PL5*25.5 S235JR 4 89 0.3

Pr5 IPE100 S235JR 1 5790 47.8
Total per assembly 48.1

Project:
Garage steel structure 6x7m.

Drawing: Size:

A [B1] A3

Status:




2240

106 800 800 533
_rﬁ g12 | Qi g12 X
| | o | o
| | © | ©
g 1 g 1 g 1
212 | | o | 212
| BZ | LD | m
| ( ) | [l ‘
I~ i i %
o W " "
~ Il I 4
- 1 [} ?*
™ Il Il
A
24 2190 26
2240
Front view

30 25

25

e TR
60

N
\\/
[0}
1o}
Pri 3N
section A-A
1:5

ASSEMBLY PART LIST Assembly: B2

Length (mm): 2243

Tekla structures

Finish: finish Number: 1 _

Part Profile Material Number Length (mm) | Weight (kg) z’:re;;e ctee! structure Gx7m.

Pr1 IPE100 S235JR 1 2243 18.5 Drawing: Size:

u1 KUS50/25/2 S235JR 3 143 0.7 A _[B2] A3
Total per assembly 19.2




Tekla structures

2853

30, 40 ;30

30 2792 30

11

" 3

[l

1 O
N I iy ¥
X I i S

2812 2212
2853
Front view

ASSEMBLY PART LIST Assembly: B3

Length (mm): 2853
Finish: finish Number: 2
Part Profile Material Number Length (mm) | Weight (kg)
B3 IPE100 S235JR 1 2853 23.6

Total per assembly 23.6

Project:
Garage steel structure 6x7m.

Drawing: Size:

A [B3] A3

Status:




Tekla structures

2367
47
A
106 802 800 659
26 2317 24
212
212 212
E 2 Lo
N, : N, N
| o | o | o
| (e} | (e} | (e}
— | \— — | \ - |
| B (Pri3) | 3 | B
1 [l 1 [l 1 [l
= I I I
I I I /%
O [ [ [
N 2212 I I I 20812 y
- [} [} [} ?*
™ I I I
4] A
24 2317 26
|
Front view
25 25
212
o)
N
NE
N
| \V :
: | [e0]
| | o
section A-A
1:5
ASSEMBLY PART LIST Assembly: B4 Length (mm): 2371
Finish: finish Number: 1 _
Part Profile Material Number Length (mm) | Weight (kg) EZre;;e steel structure Bx7m.
Pri3 IPE100 S235JR 1 2371 19.6 Drawing: Size:
u1l KU50/25/2 S235JR 3 143 0.7 QWJB“] A3
Total per assembly 20.2




Tekla structures

2240

31,40 129

26 2190 24
47
782 A 800 658
L0 Ln
N N
B 212 3 B @12 3
) : -] 4‘7 §/i
Pri : B : s
Il : Il : Il
2812 ! ! : 2012
Il Il Il
I I I i
24 A 26
4 2240

Front view

25 25

25

9,
B ey
60

s12 | ”
‘ o
3N
Prl
section A-A
1:5

ASSEMBLY PART LIST Assembly: B5

Length (mm): 2243

Finish: finish Number: 1

Part Profile Material Number Length (mm) | Weight (kg)

Pri IPE100 S235JR 1 2243 185

Ul KU50/25/2 S235JR 2 143 0.4
Total per assembly 19.0

Project:
Garage steel structure 6x7m.

Drawing: Size:

A [B5] A3

Status:




Tekla structures

QAT” 2240
780 802 658
n n
N N,
1 1 L 24
26 ‘ | 212
; 2123 : 3
E § E § A
o] o]
Pri : s : B
Il ] Il 1 Il
g 1 1 1 %
[l [l [l
o 2812 i 3 1 2812 4
~ Il Il Il S
P I Il I
24 2190 26
A
2240
Front view
25 25
L
N
o | 1
© | : 5|
& j
"
Lo |
n il z 12
3
Prl
section A- A

15

ASSEMBLY PART LIST Assembly: B6

Length (mm): 2243

Finish: finish Number: 1

Part Profile Material Number Length (mm) | Weight (kg)

Pri IPE100 S235JR 1 2243 185

Ul KU50/25/2 S235JR 2 143 0.4
Total per assembly 19.0

Project:
Garage steel structure 6x7m.

Drawing: Size:

A [B6] A3

Status:




Tekla structures

2240
104 802 800 533
26 Q & Q
| | Z12 | 24
| o | o | o
| © | © \ ©
@ | S ——— @ IN [5': B
| \212 o \Z12 § s
1 ) (B7 ) 1 I 1
m [} [}
< I I >
o [ [
N 2 12 I I 812/
b= [l [l
A
24 2190 26
2240
Front view
25 25
1)
N
2 | %
L
® ﬁ 1 3\
m | |
s
212
Pri
section A- A
1:5
ASSEMBLY PART LIST Assembly: B7 Length (mm): 2243
Finish: finish _ _ Number.Al —
Part Profile Material Number Length (mm) | Weight (kg) Garage steel structure 6x7m.
Pr1 IPE100 S235JR 1 2243 18.5 Drawing: Size:
UL KU50/25/2 S235JR 3 143 07 sﬁws[B?] A3
Total per assembly 19.2




Tekla structures

2367
108 800 800 660
L0 Ln L0
(qV] N, _— N
| o | o | o
. Pri3 | \Z12 3 2
] Il ] Il 1 Il
(*2] 1 1 1
o 1 1] 1
= 2812 I I I 2812
_ " 1" " %%
™ I Il Il
A
24 2317 26
2367
Front view
25 25
e}
(qV]
| #12
o | |
O ] M
<P %
0 | |
LD | |
3N\
section A-A

1:5

ASSEMBLY PART LIST Assembly: B8

Length (mm): 2371

Finish: finish Number: 1
Part Profile Material Number Length (mm) | Weight (kg)
Pri3 IPE100 S235JR 1 2371 19.6
Ul KU50/25/2 S235JR 3 143 0.7

Total per assembly

20.2

Project:
Garage steel structure 6x7m.

Drawing: Size:

A [B8] A3

Status:




Tekla structures

3046

30 2986 30
300
thread insi
B S thread inside (D2)
,,,,,,,,, y 1]
,,,,, (T SJ I " 1\
3
60 60 | 340 100 100 100 100 1906 | 60 | 60
Top view
30 2986 30
thread inside
i 300 thread - 3
3 / (D2)
,,,,,,,,,,,,,, 7 Il o r
3 G} ,,,,,, [Ty - & y i 1] {9
S 1
(Dp1) thread
60 60 340 100 100 100 100 100 1906 60 60
Front view
ASSEMBLY PART LIST Assembly: Brl Length (mm): 3046
Finish: finish Number: 2
Part Profile Material Number Length (mm) | Weight (kg)
D1 D16 S235JR 1 600 0.9 i
b2 D16 S235JR 1 2166 3.1 zl:re;;e steel structure 6x7m.
P3 FLAT5*60 S235JR 2 150 0.7 Drawing: Size:
Si1 D30 S235JR 1 300 1.3 SﬁwiBrl] A3
Total per assembly 6.0




2998

30 2938 30
300

BD) thread Si thread inside (D3)
,,,,, [T — - - ! [T

,,,,,

Tekla structures

N 7
3
thread 3h
60 60 340 | 100 100 100 100 100 1858 60 60
Top view
30 2938 30
thread inside
S 300 thread
3
1™ =
,,,,,,,,,,,,,, 7 Il
3 G} ,,,,,, [y - oo y [T "
8 1
(p1) thread
60 60 340 100 100 100 100 100 1858 60 60
Front view
ASSEMBLY PART LIST Assembly: Br2 Length (mm): 2998
Finish: finish Number: 2
Part Profile Material Number Length (mm) | Weight (kg)
D1 D16 S235JR 1 600 0.9
Project:
b3 D16 S235JR 1 2118 3.1 G;rage steel structure 6x7m.
P3 FLAT5*60 S235JR 2 150 0.7 Drawing: Size:
Sl1 D30 S235JR 1 300 1.3 QIUS[BrZ] A3
Total per assembly 5.9




Tekla structures

3363

30 3303 30
300
thread insi
B S / thread inside (D4)
,,,,,,,,, ||
,,,,, (T 8‘ [T T ” — | |
3 3N/
60 60 | 340 100 100 100 100 2223 60 60
Top view
30 3303 30
thread inside
300 thread
3 Si1 rea P3
/ (D4)
,,,,,,,,,,,,,, 7 Il A A
3 G} ,,,,,, [Ty - SJ y i 1] {9
© 1
-
(p1) thread
60 60 340 100 100 100 100 100 2223 60 60
Front view
ASSEMBLY PART LIST Assembly: Br3 Length (mm): 3363
Finish: finish Number: 2
Part Profile Material Number Length (mm) | Weight (kg)
D1 D16 S235JR 1 600 0.9 i
D4 D16 S235JR 1 2483 3.6 zl:re;;e steel structure 6x7m.
P3 FLAT5*60 S235JR 2 150 0.7 Drawing: Size:
Si1 D30 S235JR 1 300 1.3 sﬁwiBrS] A3
Total per assembly 6.5




Tekla structures

6205

thread inside

30 6145 30
300 th
read 3\
@ thread :Dlj
Sl1
G} :/:” T y [T RY | {9
3N
60 60 5065 100 100 100 100 100 340 60 60
Top view
130 6145 30,
thread inside Sl1
3 thread 3
(D5) \ thread —L\
11 [ 1
1y T [T lllllllllll! ,,,,,,, Yy . l !llllllllllllllllllll N 4
1 g
(bL) B
60 60 5065 100 100 100 100 100 340 60 60
Front view

ASSEMBLY PART LIST Assembly: Bré

Length (mm): 6205

Finish: finish Number: 2
Part Profile Material Number Length (mm) | Weight (kg)
D1 D16 S235JR 1 600 0.9
D5 D16 S235JR 1 5325 7.7
P3 FLAT5*60 S235JR 2 150 0.7
Sl1 D30 S235JR 1 300 1.3
Total per assembly 10.6

Project:
Garage steel structure 6x7m.

Drawing: Size:

A [Br4] A3

Status:




Tekla structures

2167
15 2062
Te)
Q &
Il
g 8 @ S L 4'i 77777777777777777777777777777777777777777777777777777777 ;\'_'
= B N s
[ N
— \\ I <
0 — P18 @
10
o) =
20 40 20
) 5 160
Top view P18
- @,
44 | 38 e ' -
] i
W 3 o (L1 )
U o
| «
o © 1
" | rj*tj*l*j:c(‘;* ” “F ! ! o
[l =osrpees F g S | BRI
| | o)) C>-cCad-cZ-g] T -
. 3 ii NI
= I ® 70 70
(I N N3N
80 10 4
47 47 124 S {}
0
N~
15 2154 o I_/
o)
2169 S
N~
| Vs
Front view «
59 p36 365 59 (P1) Pr4
sectionD -D
3 || CPaD 15
i 3\
i Pr4 . . H
> L] B ’ o < I
ASSEMBLY PART LIST ] -I I_ ©
Assembly: C1 Length (mm): 2169 ~ J_':q !
Finish: finish Number: 1 N N J I " Pra
Part Profile Material Number Length (mm) | Weight (kg) ;\
L1 H65/50/5 S235JR 2 80 0.7 Pra 36| 64
P1 FLAT15*140 S235JR 1 155 2.6 70 30 61 59
A s = N N B A secion C-C
* : section A - ; . :
* - - SeCtlon B - B 15 Project:
p7 FLATS*90 S235JR 1 76 0.2 1:5 T G;rage steel structure 6x7m.
P18 PL5*88.2 S235JR 1 98 0.2 " Drawing: Size:
Pr4 IPE100 S235JR 1 2154 17.8 sﬁwim] A3
Total per assembly 22.4




Tekla structures

2169
15 2154 H
. S 80 10
| Pr4 P18
3N\ 10
A\ —
I $ N
[} | | "n
8 ::::::::::::::::::::::::::::::::::::::::::::::::::::::::ll:::::::::::::::::::::::::::::::::::::::::::::::::::::::’::::::7:>;7::J;;;;;;;j’N Ln
= i / I i 0
11 o ’ Il
” aJ A\
- ) $ N )
—
— »
0 N\
o
80 10
5 128
169
LI
Top view 5 130
P18
L1
44 |38 | 48 (P4) ; G
P1 o
Pr4 © o
| «
| I 2 | |
R T 1" | ] S
] ” L ‘ |
! i o =
~ [ © ® Py
N \Sﬂl
Lo
80 1( o /
83 2 N
47 | 47 124 N N
15 2154 Te}
o
—
2169 /) R
NI
Front view 9
Pr4
Pr4 70 70
Pr4 .
section D - D
N 1—[ 15
ASSEMBLY PART LIST Assembly: C2 Length (mm): 2169 Q J I |
Finish: finish Number: 1 N\
Part Profile Material Number Length (mm) | Weight (kg) 1
L1 H65/50/5 S235JR 2 80 0.7 y
P1 FLAT15*140 S235JR 1 155 2.6 36 t»: 59
P2 FLAT10%65 S235JR 2 65 0.7 70 |30 61 59 9§
P4 FLAT5*90 S235JR 1 87 0.2 .

: sectionC-C Project
p7 FLAT5*90 S235JR 1 76 0.2 SeCtion A - A SeCtlon B - B T G;rage steel structure 6x7m.
P18 PL5*88.2 S235JR 1 98 0.2 T 15 " Drawing: Size:
Pr4 IPE100 S235JR 1 2154 17.8 ) sﬁwicz]

Total per assembly 22.4




Tekla structures

133 215
0 86
N 4 Pr8 P18 3N\
- 1/ 4
- I Bl & ¢ o
o / " JL - - -Hae— N
S :::::‘::::::::%::::’:::::::::::::::::::::::::::::::::::::::::::::::::::::::l'i::::::::::::::::::::::::::::::::::::::::::::::::::,::::::::;:::::::%:: TEEEE EE:‘
1 . | II o) 1 ‘ o I g
i LE ) ” a [R]E e
N w~ 0
: =
L1
(P6 )
80 10
167
15 2068
< B
2083 8 Al
Top view 86 129
5, 44
D
45 89 167 | AN
3 3 H .
— Pr8 ol ©
y Il «
R / o i &
W o " Lo L I : : o
N I — || [ [ Ln
- — o " % u‘u u‘u
(o]
R | & I ‘ 8
R L | (P6 ) (L1 ) M&
\ 86 (P5) 80 10
15 \ 2068
Nl
2083
D
. 155
Front view
25 105 25
Pr8
61 65 30 365 59
3N i 1365 59 | 2 | S
- i T
' {:| —I 4 O
o PN
e S
. - ' I r
Finish: finish Number: 1 _ J ; L g i 3 I
b - - - Lo H 78 78
art Profile Material Number Length (mm) | Weight (kg) N H 1 U 3
L1 H65/50/5 S235JR 2 80 0.7 ! I
N/ (P5) -
P1 FLAT15+140 S235JR 1 155 2.6 S Pr8 section D - D
P2 FLAT10%65 S235JR 2 65 07 sectionC-C 1:5
* .Ll . -
EZ Et:*;ie zzizji i 122 g; t A A SeCtlor] B - B 15 zl:re;;e steel structure 6x7m.
P18 PL5*88.2 S235JR 1 98 0.2 w 15 Drawing: Size:
Pr8 IPE100 S235JR 1 2068 17.1 1:5 Sﬁwicg] A3
Total per assembly 21.7




Tekla structures

15 2068
80 10
P18
(P6 ) 5, 74
Pr8 B - 7{3 N
I o S o
1" < | | M | <
- __ - - - - - - - - - - __’’’’’T’TZTZZZZZZZZZZZZZZzzzZzZzZzZzZczZcZ-t- k::::::::::::::::::::::::::::::::::::::::::::::::::::::,::::Effffff,J::::[‘::;::::::::::§
. S | §
- " R
- 2
D)
C 80 |10
165
15 2066
P 2
Top view 5 74
P18 -
4 Prg !
_ (L) |
A e
P5 36,( 2 o
2 A J| o
1] © \
1 2 i 3 L | |
- /‘ ! LOY Eii,t‘liij : | | : 8
f;(:fﬁ:::ﬂ j— N ” o T -
1 L I
1 3 I ‘ 3
= P ” \sl
45 89 80 10
86 129
15 2068
Front view
70 70
Yo}
N
4R
Pra 59 536 N R
365 59 (P5) 8 3
" | )
_ _ T =
ASSEMBLY PART LIST Assembly: C4 Length (mm): 2083 8 ] | NZAN
Finish: finish Number: 1 = | I N 3 % \ .
Part Profile Material Number Length (mm) | Weight (kg) ‘! N =
L1 H65/50/5 S2350R 2 80 0.7 AN ) _| (P1)
P1 FLAT15%140 S235JR 1 155 2.6 61 65 30 i
P2 FLAT10*65 S235JR 2 65 07 i o 3 sectionD -D
P5 PL5*78.6 S235JR 1 108 0.2 - Pr8 section C - C 15
i - Project:
P6 PL5*81 S235JR 1 112 0.2 section A-A sectionB - B 15 o ;rage steel Structure 6x7m.
P18 PL5*88.2 S235JR 1 98 0.2 1:5 1—5 : Drawing: Size:
Pr8 IPE100 S235JR 1 2068 17.1 ' sﬁwim] A3
Total per assembly 21.7




Tekla structures

92 136 137
P19
78 17 TB
R e
N 7 Pr3 I (u3) 212
< i 1"
Ln =__- -
2 [
- -
(q\]
15 1992
2007
< B A
Top view 179
4 —OpVIEW 3N
(P2 ) 80 17
L0
N . P16
S Pl 3
Lo N & A/
] P19 ~ Pr3 < e - S
8 Il ¥ N ¥
- h -
& I _3L/ )
A ] o " o Y T~ ©
T S I 0 ( o
—\ n Ll TIT T o
o L1 o / 77777777777777 S
= \ || ! | Cu3))
| 8 3\ [2*212
4 80 15 (P9 ) 210
15 1992 137
Front view
3
Pr3 Pr3 195
(P8 ) 3 P16 43
o Pr3
N { 25 50 100 20
o [e0] o
™ N N N
I ~ o o= @14
! N ™ _| 0
40| 70 |30 J/’ © &
section B - B ) ~ 5 -
8 N 8 N
sectionA-A 1:5 Ny
ASSEMBLY PART LIST:nssembly: C5 Length (mm): 2144 10
Finish: finish Number: 1 P19
Part Profile Material Number Length (mm) | Weight (kg) 19214
L1 H65/50/5 S235JR 1 80 0.4
P2 FLAT10*65 S235JR 2 65 0.7 25 100 70
P8 FLAT5*65 S235JR 1 80 0.2
P9 FLAT5*55 S235JR 1 100 0.2 .
P16 PL5*83.2 S235JR 1 92 0.2 %
P19 PL15*125 S235JR 1 195 2.9 15
Pr3 IPE100 S235JR 1 1987 16.4
U3 KU50/25/2 S235JR 1 137 0.2
Total per assembly 21.2

Project:
Garage steel structure 6x7m.

Drawing: Size:

A [C5] A3

Status:




N M / Pr3 |
< - 1"
m 7féi::::::::%::::::::::::::::::::::::::::::::::::::::::::::::”::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::%%%%}E‘%%‘%’:
N - 1" |
- 38 | |
T 3
i

25
fo

Tekla structures

214
15 1897 80 15
2007
el Al
Top view
3
(P9 P12
15 1897 80 15 "
o
| N Pr3 3N /
Il
o T S \ f /
~ | I s\ I T §
o 1" O
ol ] 4 = I B \ R | | S — o
& f \ (u3) ©
o
S 1T o A
a o ? - L N §
R B N~ - N
- AT
&
P16
102 40 | 37 (P8)
15 1992 H 137
2007 137
30, 70 |40 Front view
(P8)
Pr3 S P16
-I I‘ ~ Pr3 195
2*?1ﬁ — | 8 @ 20 100 50 25
) ! o
| 3 L < ~ ] P19
3 N
<
_ sectionB -B ol 8 ]—[ N
section A - A 15 g N
1.5 0 e @
ASSEMBLY PART LIST \J\
Assembly: C6 Length (mm): 2144 =
Finish: finish Number: 1 o } 4N
Part Profile Material Number Length (mm) | Weight (kg) Pr3
L1 H65/50/5 S235JR 1 80 0.4 70 100 25
P2 FLAT10*65 S235JR 2 65 0.7
P8 FLAT5*65 S235JR 1 80 0.2 .
P9 FLAT5*55 S235JR 1 100 0.2 %
P16 PL5*83.2 S235JR 1 92 0.2 5
Project:
P19 PL15*125 S235JR 1 195 2.9 G;rage steel structure 6x7m.
Pr3 IPE100 S235JR 1 1987 16.4 Drawing: Size:
U3 KU50/25/2 S235JR 1 137 0.2 sﬁtUJCG] A3
Total per assembly 21.2




Tekla structures

4[] & 80 17
14
9 138
N pr—
. 2 Pr2 P12
) - 1]
Qv = :: =
H 777%:::%:::::::::::::::::::::::::::::::::::::::::::::::::::::::ll:::::::::::::::::::::::::::::::::::::::::::::::::::77U: 777777 -
'\ | ]l
< If o
] N
o
« P13 80 15 Cu2)
P14
(P2)
15 2130 H 100 5
2255
D
= | o Bl
Top view 110
P13
80 15 (P12
2 14
Lo
AN . A
N o 0 N 3N
B ~ Pr2 <+ b S J 212
8 I~ I\ | 3 0
7o) — (@) Nt ‘°_°|
S || 7 5 [l 3 /D | (U2 2
1 @—& o _ - | |
|| ] !! j_l; Ej‘,\::j‘g:‘ © é o
R I i
& P14
80 17
15 2240 139
2235 5
2255
B
Q <J 195
A 25 100 70
Front view
Lo
N
P12 3 Q N &
512 N P13 S 10
Y o) —
’ 2 ~ N ®
| <
g o T 3 Pr2
— 0 P19 I
—
ASSEMBLY PART LIST Assembly: C7 Length (mm): 2394 I 3] 53 ] N4l
Finish: finish Number: 1 i S LN o 25 50 100 20
Part Profile Material Number Length (mm) | Weight (kg) g :;L:J ‘3 195
L1 H65/50/5 S235JR 1 80 0.4 Pro
P2 FLAT10*65 S235JR 2 65 0.7 42 N .
P12 FLAT5*55 S235JR 1 80 0.2 55 _ ] sectionD - D
P13 FLAT5*55 S235JR 1 85 0.2 sectionB - B sectionC-C 1:5
P14 FLAT*S 55 S235JR 1 185 0.4 section A - A 15 I
P19 PL15*125 S235JR 1 195 2.9 1: 5 Garage steel structure 6x7m.
Pr2 IPE100 S235JR 1 2235 18.5 ’ Drawing: Size:
u2 KU50/25/2 S235JR 1 139 0.2 Sﬁwim] A3
Total per assembly 23.4




Tekla structures

138

80 17
&
] 53 60 25
N o o
|| 0 Pr2 ’ - ¢ ¢ %,
Q8 Y : R \ 212
‘_' 777%::::::::£:::::::::::::::::::::::::::::::::::::::::::::::::::ll:::::::::::::::::::::::::::::::::::::::::::::::::::::%:::::#JL:J:k?:,:J:k?,%:_777 T——***T;l
~ u II h
< _I\ Il
o u2)
4 o P14
15 2235 5
2255
4[] Top view ﬁ W
2255 <a B
15 2230 5 139
@12
PR P14
- N Pr2 L1 80 17
[l >
1 U2 )
,9 7—: || 8 \\7<Jr7717‘77 & g
R = 8 " o P M © =
- = 1 rg) | | =
g 1 " : J‘
A 8 - o
' ~—T| Y]
N 0 o) YV o) -
4 | | o0} o0}
- 3N
L0 U
(qV]
Jﬂ (P13) 15 80 15 (pP12)
2394 R LA
B A
42 C
o = ﬁls L1 Front view
2222 o
— ™
3\ a § 3N~ o
= / g12 ~
ZZ
&
< o
Pia 1N . S
o
25 30 -
55 \ R
. section B - B 8l = A\
section A-A T o 8 E \V
1:5 ' & 3 o
S
ASSEMBLY PART LIST Assembly: C8 Length (mm): 2394 P13 o oal
Finish: finish Number: 1 N
Part Profile Material Number Length (mm) | Weight (kg) 55 NI
L1 H65/50/5 S235JR 1 80 0.4 10 0
P2 FLAT10*65 S235JR 2 65 0.7 sectionC-C 47 78
P12 FLAT5*55 S235JR 1 80 0.2 15
P13 FLAT5*55 S235JR 1 85 0.2 125
P14 FLAT5*55 S235JR 1 185 0.4 _
P19 PL15*125 S235JR 1 195 2.9 sectionD -D
Pr2 IPE100 S235JR 1 2235 185 1:5
u2 KU50/25/2 S235JR 1 139 0.2
Total per assembly 23.4

Project:

Garage steel structure 6x7m.
Drawing: Size:
A [C8] A3
Status:




Tekla structures

1990
B Al
15| | 47 87 1756 B 80 P10
Ln
N
& P17) Pr7
N — A
1R 0 Sh |4 9
To) | T P w 0
8\ :::::‘::::::::_‘,,,ﬁ ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, :”,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ====-o (2
| | ; AN
B T~ Il Q N3N
T H = &
R S
(\I P9 o
P17 o
il
15 85 1830 40 20
E A
Top view
85 1830 40 20
.Pl
q
4
N _ /G—B Pr7
I 0 P11
S — g \< g
- N~
N | P17 © " g | 3 Yo}
H o o ! s 2
O c) T T I I IN@]
= Q Il
At ) R S
(P10)
15 47 87 1756 5 80
1990
£l
Front view
3 25 105
P17
& 3
P10 1 / Pr7 : — Pr7
i o | 4 o
< H -~ =
¢ K D10
,,,,,,, - o 8 10
P11) L ‘ 3 E - S
ASSEMBLY PART LIST Assembly: C9 Length (mm): 1990 / S i i m
Finish: finish Number: 1 N < b _
Part Profile Material Number Length (mm) | Weight (kg) 0 M 78 77
P1 FLAT15*140 S235JR 1 155 2.6 N P17
P2 FLAT10%65 S235JR 2 65 0.7 70 & |20 229 .
P9 FLAT5*55 S235JR 1 100 0.2 ) sectionC-C
P10 FLAT5*80 S235JR 1 185 0.6 section A - A sectionB-B 1:5 _
« = 8 roject:
P11 FLATS5*70 S235JR 1 80 0.1 15 1:5 Garage steel structure 6x7m.
P17 FLAT5*75 S235JR 2 108 0.4 . Drawing: Sze:
Pr7 IPE100 S235JR 1 1890 15.6 s'iwicg] A3
Total per assembly 20.3




Tekla structures

PR1
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, -
N MY e N
10 I 10
A " i
I ¥
o " o
3 2 12 I 212 ©
© I o)
™ ™
B JI! ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, -
40 5920 40
A
Front view
PR1
" [N
o)
o
©
. oo,
[ ™
A-A
ASSEMBLY PART LIST Assembly: PR1 Length (mm): 6000
.. T . Project:
FInISh' fInISh Number' 10 G;rage steel structure 6x7m.
Part Profile Material Number Length (mm) | Weight (kg) Drawing: Size:
PR1 BENDED_Z150-2-18-47| S235JR 1 6000 26.1 QIUS!PR]'] A3
Total per assembly 26.1




SINGLE PARTS DRAWINGS




Tekla structures

AP

200

thread length

Profile

Material

Length

Number | Ass.no.

D16

S235JR

600

2 Brl

D16

S235JR

600

Br2

D16

S235JR

600

Br3

D16

S235JR

600

Br4d

Total number:

Project:
Garage steel structure 6x7m.

Drawing: Size:
W [D1] A4

Status:




Tekla structures

thread length

TN

200

Profile

Material Length

Number

Ass.no.

Project:
Garage steel structure 6x7m.

D16

S235JR 2166

2

Brl

Drawing: Size:

W [D2] A4

Total number:

2

Status:




Tekla structures

thread length

T

200

Profile

Material

Length

Number

Ass.no.

Project:
Garage steel structure 6x7m.

D16

S235JR

2118

2

Br2

Drawing: Size:

W [D3] A4

Total number:

2

Status:




Tekla structures

thread length

T

200 ‘

Profile

Material Length

Number

Ass.no.

Project:
Garage steel structure 6x7m.

D16

S235JR 2483

2

Br3

Drawing: Size:

W [D4] A4

Total number:

2

Status:




Tekla structures

thread length

(T

200

Profile

Material

Length

Number

Ass.no.

Project:
Garage steel structure 6x7m.

D16

S235JR

5325

2

Br4d

Drawing: Size:

W [D5] A4

Total number:

2

Status:




Tekla structures

Profile

Material

Number

Ass.no.

H65/50/5

S235JR

80

C1

H65/50/5

S235JR

80

C2

H65/50/5

S235JR

80

C3

H65/50/5

S235JR

80

C4

H65/50/5

S235JR

80

C5

H65/50/5

S235JR

80

C6

H65/50/5

S235JR

80

Cc7

Project:
Garage steel structure 6x7m.

H65/50/5

S235JR

80

C8

Drawing: Size:

W [L1] A4

Total number:

Status:




Tekla structures

Profile

Material

Length

Number

Ass.no.

FLAT15*140

S235JR

155

1

C1

FLAT15*140

S235JR

155

Cc2

FLAT15*140

S235JR

155

C3

FLAT15*140

S235JR

155

C4

Project:
Garage steel structure 6x7m.

FLAT15*140

S235JR

155

C9

Drawing: Size:

W [P1] A4

Total number:

Status:




Tekla structures

Profile

Material

Number

Ass.no.

FLAT10*65

S235JR

65

2

C1

FLAT10*65

S235JR

65

Cc2

FLAT10*65

S235JR

65

C3

FLAT10*65

S235JR

65

C4

FLAT10*65

S235JR

65

C5

FLAT10*65

S235JR

65

C6

FLAT10*65

S235JR

65

Cc7

FLAT10*65

S235JR

65

C8

Project:
Garage steel structure 6x7m.

FLAT10*65

S235JR

65

NINININININININ

C9

Drawing: Size:

W [P2] A4

Total number:

=
[oe]

Status:




Tekla structures

Profile

Material

Length

Number

Ass.no.

FLAT5*60

S235JR

150

4

Brl

FLAT5*60

S235JR

150

Br2

FLAT5*60

S235JR

150

Br3

Project:
Garage steel structure 6x7m.

FLAT5*60

S235JR

150

Br4d

Drawing: Size:

W [P3] A4

Total number:

Status:




Tekla structures

Profile

Material

Length

Number

Ass.no.

FLAT5*90

S235JR

87

C1

Project:
Garage steel structure 6x7m.

FLAT5*90

S235JR

87

C2

Drawing: Size:

W [P4] A4

Total number:

Status:




Tekla structures

Profile

Material

Length

Number

Ass.no.

PL5*78.6

S235JR

108

C3

Project:
Garage steel structure 6x7m.

PL5*78.6

S235JR

108

C4

Drawing: Size:

W [P5] A4

Total number:

Status:




Tekla structures

Profile

Material

Length

Number

Ass.no.

PL5*81

S235JR

112

C3

Project:
Garage steel structure 6x7m.

PL5*81

S235JR

112

C4

Drawing: Size:

W [P6] A4

Total number:

Status:




Tekla structures

Profile

Material

Length

Number

Ass.no.

FLAT5*90

S235JR

76

C1

Project:
Garage steel structure 6x7m.

FLAT5*90

S235JR

76

C2

Drawing: Size:

W [P7] A4

Total number:

Status:




Tekla structures

Profile

Material

Length

Number

Ass.no.

FLAT5*65

S235JR

80

C5

Project:
Garage steel structure 6x7m.

FLAT5*65

S235JR

80

C6

Drawing: Size:

W [P8] A4

Total number:

Status:




Tekla structures

Profile

Material

Length

Number

Ass.no.

FLAT5*55

S235JR

100

1

C5

FLAT5*55

S235JR

100

C6

Project:
Garage steel structure 6x7m.

FLAT5*55

S235JR

100

C9

Drawing: Size:

W [P9] A4

Total number:

1
1
3

Status:




Tekla structures

Profile

Material

Length

Number

Ass.no.

Project:
Garage steel structure 6x7m.

FLAT5*80

S235JR

185

1

C9

Drawing: Size:

W [P10] A4

Total number:

1

Status:




Tekla structures

Profile

Material

Length

Number

Ass.no.

Project:
Garage steel structure 6x7m.

FLAT5*70

S235JR

80

1

C9

Drawing: Size:

W [P11] A4

Total number:

1

Status:




Tekla structures

Profile

Material

Length

Number

Ass.no.

FLAT5*55

S235JR

80

Cc7

Project:
Garage steel structure 6x7m.

FLAT5*55

S235JR

80

C8

Drawing: Size:

W [P12] A4

Total number:

Status:




Tekla structures

Profile

Material

Length

Number

Ass.no.

FLAT5*55

S235JR

85

Cc7

Project:
Garage steel structure 6x7m.

FLAT5*55

S235JR

85

C8

Drawing: Size:

W [P13] A4

Total number:

Status:




Tekla structures

Profile

Material

Length

Number

Ass.no.

FLAT5*55

S235JR

185

Cc7

Project:
Garage steel structure 6x7m.

FLAT5*55

S235JR

185

C8

Drawing: Size:

W [P14] A4

Total number:

Status:




Tekla structures

Profile

Material

Length

Number

Ass.no.

Project:
Garage steel structure 6x7m.

PL5*25.5

S235JR

89

4

Bl

Drawing: Size:

W [P15] A4

Total number:

4

Status:




Tekla structures

Profile

Material

Length

Number

Ass.no.

PL5*83.2

S235JR

92

C5

Project:
Garage steel structure 6x7m.

PL5*83.2

S235JR

92

C6

Drawing: Size:

W [P16] A4

Total number:

Status:




Tekla structures

Profile

Material

Length

Number

Ass.no.

Project:
Garage steel structure 6x7m.

FLAT5*75

S235JR

108

2

C9

Drawing: Size:

W [P17] A4

Total number:

2

Status:




Tekla structures

Profile

Material

Number

Ass.no.

PL5*88.2

S235JR

98

1

C1

PL5*88.2

S235JR

98

Cc2

PL5*88.2

S235JR

98

C3

Project:
Garage steel structure 6x7m.

PL5*88.2

S235JR

98

C4

Drawing: Size:

W [P18] A4

Total number:

Status:




Tekla structures

Profile

Material

Length

Number

Ass.no.

PL15*125

S235JR

195

1

C5

PL15*125

S235JR

195

C6

PL15*125

S235JR

195

Cc7

Project:
Garage steel structure 6x7m.

PL15*125

S235JR

195

C8

Drawing: Size:

W [P19] A4

Total number:

Status:




Tekla structures

100

100

thread length

thread length

Profile

Material

Length

Number

Ass.no.

D30

S235JR

300

2

Brl

D30

S235JR

300

Br2

D30

S235JR

300

Br3

D30

S235JR

300

Br4d

Total number:

Project:
Garage steel structure 6x7m.

Drawing: Size:

W [SI1] Ad

Status:




Tekla structures

Profile

Material

Length

Number

Ass.no.

KU50/25/2

S235JR

143

B2

KU50/25/2

S235JR

143

B4

KU50/25/2

S235JR

143

B5

KU50/25/2

S235JR

143

B6

KU50/25/2

S235JR

143

B7

Project:
Garage steel structure 6x7m.

KU50/25/2

S235JR

143

B8

Drawing: Size:

W [U1] A4

Total number:

Status:




Tekla structures

Profile

Material

Length

Number

Ass.no.

KU50/25/2

S235JR

139

Cc7

Project:
Garage steel structure 6x7m.

KU50/25/2

S235JR

139

C8

Drawing: Size:

W [U2] A4

Total number:

Status:




Tekla structures

Profile

Material

Length

Number

Ass.no.

KU50/25/2

S235JR

137

C5

Project:
Garage steel structure 6x7m.

KU50/25/2

S235JR

137

C6

Drawing: Size:

W [U3] Ad

Total number:

Status:




	GA
	ASSEMBLY DRAWINGS 
	General 3 - Assembly tittle

	SINGLE PART DRAWINGS 
	General 4 - Single parts tittle
	SINGLE PART DRAWINGS 




